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Think Discuss And Write

1. Can you all four angles of a quadrilateral obtuse angles? Give

reasons for your answetr.

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_j0R4cIldaYIq

2. We saw that 5 measurement of a quadrilateral can determine
a quadrilateral uniquely. Do you think any five measurements of

the quadrilateral can do this?

° Watch Video Solution

3. Can you draw a parallelogram BATS where BA = 5cm, AT =6 cm

and AS = 6.5 cm? Why?

° Watch Video Solution

4. Can you draw a rhombus ZEAL, where ZE = 3.5 cm, diagonal EL

= 5cm? Why?

° Watch Video Solution



https://dl.doubtnut.com/l/_8l7qkSycshqg
https://dl.doubtnut.com/l/_W2B9Kwu67soN
https://dl.doubtnut.com/l/_MPMjDHLwJKr0
https://dl.doubtnut.com/l/_lGQUpN1xBGlG

5. A student attempted to draw a quadrilateral PLAY where PL =
3cm, LA =4 cm, AY = 4.5cm, PY =6 cm, LY=6 cm but could not draw

it. What is the reason?

° Watch Video Solution

6. With the help of compass we can draw the angle of

o Watch Video Solution

7. Can you construct a quadrilateral PQRS with PQ = 3cm, RS =

3cm, PS = 7.5cm, PR = 8cm and SQ = 4 cm? Justify your answer.

o Watch Video Solution



https://dl.doubtnut.com/l/_lGQUpN1xBGlG
https://dl.doubtnut.com/l/_unUTCeIbgp9Q
https://dl.doubtnut.com/l/_bacm80dIwvh1

8. Can you construct the above quadrilateral (Fig. 4.18) MIST if

we have 100° at M instead of 75°?

o Watch Video Solution

9. Can you construct the above quadrilateral PLAN if PL = 6cm, LA

=95cm, /P =75° = /L = 150° and ZA = 140°.

o Watch Video Solution

10. In a parallelogram, the length of adjacent sides are known.

Do we still need measure of the angles to construct above?

o Watch Video Solution



https://dl.doubtnut.com/l/_f7PEHbtw4Edo
https://dl.doubtnut.com/l/_NVZbEco6E2AT
https://dl.doubtnut.com/l/_xTxpX91pDxc4

11. The first genetic material could be

° Watch Video Solution

12. Construct a quadrilateral ABCD when AB = 3.5 cm, BC = 4 cm,
CD=3.7cm,

DA=42cmand ZA = 120°.

° Watch Video Solution

13. Quadrilateral PQRS in which
PQ = QR = 6.2cm
/P = /Q = 100°

ZR = 90°

o Watch Video Solution



https://dl.doubtnut.com/l/_fU3xPkJ3jW3H
https://dl.doubtnut.com/l/_nxmWKOwog3Oe
https://dl.doubtnut.com/l/_fAKQ27oLBV97

14. Can you all four angles of a quadrilateral obtuse angles? Give

reasons for your answer.

° Watch Video Solution

15. We saw that 5 measurement of a quadrilateral can determine
a quadrilateral uniquely. Do you think any five measurements of

the quadrilateral can do this?

o Watch Video Solution

16. Can you draw a parallelogram BATS where BA = 5cm, AT = 6

cm and AS = 6.5 cm? Why?

o Watch Video Solution



https://dl.doubtnut.com/l/_fAKQ27oLBV97
https://dl.doubtnut.com/l/_HOaoQhWulYen
https://dl.doubtnut.com/l/_fEhL4M3sShSF
https://dl.doubtnut.com/l/_xD0k0JzwURYB

17. Can you draw a rhombus ZEAL, where ZE = 3.5 cm, diagonal EL

= 5cm? Why?

o Watch Video Solution

18. A student attempted to draw a quadrilateral PLAY where PL =
3cm, LA =4 cm, AY = 4.5cm, PY =6 cm, LY=6 cm but could not draw

it. What is the reason?

° Watch Video Solution

19. With the help of compass we can draw the angle of

o Watch Video Solution



https://dl.doubtnut.com/l/_G1zXu2QaHUNe
https://dl.doubtnut.com/l/_KguAIwItNGuE
https://dl.doubtnut.com/l/_DbupMaxrGsG2

20. Can you construct a quadrilateral PQRS with PQ = 3cm, RS =

3c¢m, PS = 7.5cm, PR = 8cm and SQ =4 cm? Justify your answer.

o Watch Video Solution

21. Can you construct the above quadrilateral (Fig. 4.18) MIST if

we have 100° at M instead of 75°?

o Watch Video Solution

22. Can you construct the above quadrilateral PLAN if PL = 6cm,

LA=95cm, /P =75° = /L = 150° and ZA = 140°.

o Watch Video Solution



https://dl.doubtnut.com/l/_e2ml2VWuR3jT
https://dl.doubtnut.com/l/_6UVTpLTuuT0h
https://dl.doubtnut.com/l/_RRT93FrYZZfh

23.In a parallelogram, the length of adjacent sides are known.

Do we still need measure of the angles to construct above?

o Watch Video Solution

24.The first genetic material could be

° Watch Video Solution

25. Construct a quadrilateral ABCD when AB = 3.5 cm, BC =4 cm,
CD=3.7cm,

DA=42cmand ZA = 120°.

o Watch Video Solution



https://dl.doubtnut.com/l/_Ko8OMDCB3SBD
https://dl.doubtnut.com/l/_achyOG695KVP
https://dl.doubtnut.com/l/_34Qn0NOVato8

26. Quadrilateral PQRS in which
PQ = QR = 6.2cm
/P = /Q = 100°

ZR = 90°

o Watch Video Solution

1. Construct the following quadrilaterals.
Quadrilateral ABCD

AB=45cm,BC=55cm,CD=4cm,AD=6cm,AC=7 cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_7T7b3Azz4bbJ
https://dl.doubtnut.com/l/_PmhLADXhadWr

2. Construct the following quadrilaterals :
Quadrilateral JUMP
JU=35cm
UM =4 cm
MP =5 cm.
PJ=45cm

PU=6.5 cm.

° Watch Video Solution

3. Construct the following quadrilaterals :
Parallelogram MORE
OR=6cm.
RE=4.5cm

EO=75cm.

| o Watch Video Solution


https://dl.doubtnut.com/l/_XYbamtcVO4BT
https://dl.doubtnut.com/l/_ZwarY3sr1d8i

4. Construct the following quadrilaterals :
Rhombus BEST
BE=4.5cm

ET =6 cm.

° Watch Video Solution

5. Construct the following quadrilaterals.
Quadrilateral ABCD

AB=45cm,BC=55cm,CD=4cm,AD=6cm,AC=7 cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZwarY3sr1d8i
https://dl.doubtnut.com/l/_Bnx0fABCOkI7
https://dl.doubtnut.com/l/_ELdVwjdKdeii

6. Construct the following quadrilaterals :
Quadrilateral JUMP
JU=35cm
UM =4 cm
MP =5 cm.
PJ=45cm

PU=6.5 cm.

° Watch Video Solution

7. Construct the following quadrilaterals :
Parallelogram MORE

OR =6 cm.

RE=4.5cm

EO=75cm.

| o Watch Video Solution


https://dl.doubtnut.com/l/_J7acPGy79OzB
https://dl.doubtnut.com/l/_huoKx5IPT4js

8. Construct the following quadrilaterals :
Rhombus BEST
BE=4.5cm

ET =6 cm.

° Watch Video Solution

1. Construct the following quadrilaterals :
Qadrilateral LIFT

LI=4 cm

IF=3cm

TL=2.5cm


https://dl.doubtnut.com/l/_huoKx5IPT4js
https://dl.doubtnut.com/l/_KpNUPw6XqR0Z
https://dl.doubtnut.com/l/_1bABMKpZx5pu

LF=4.5cm

IT=4 cm.

o Watch Video Solution

2. Quadrilateral GOLD
OL=75acm

GL=6cm.

GD=6cm

LD =5cm

OD =10 cm.

o Watch Video Solution

3. Construct the following quadilateral : Rhombus BEND.

BN =5.6cm


https://dl.doubtnut.com/l/_1bABMKpZx5pu
https://dl.doubtnut.com/l/_pFNNYFVg5xvj
https://dl.doubtnut.com/l/_v7kCCTLJFvh4

DE =6.5 cm.

o Watch Video Solution

4. Construct the following quadrilaterals :
Qadrilateral LIFT
LI=4 cm
IF=3cm
TL=25cm
LF=4.5cm

IT=4cm.

o Watch Video Solution

5. Quadrilateral GOLD

OL=75cm


https://dl.doubtnut.com/l/_v7kCCTLJFvh4
https://dl.doubtnut.com/l/_AOpvbuEBnQuR
https://dl.doubtnut.com/l/_MKBAukA4xyPN

GL=6cm.

GD=6cm

LD=5cm

OD =10 cm.

o Watch Video Solution

6. Construct the following quadilateral : Rhombus BEND.
BN =5.6 cm

DE =6.5 cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_MKBAukA4xyPN
https://dl.doubtnut.com/l/_aAU0Ne2Bf8pF

1. Quadrilateral MORE

MO = 6em, OR = 4.5¢m, /M = 60°, /O = 105°, /R = 105°.

o Watch Video Solution

2. Quadrilateral PLAN

PL = 4¢m, LA = 6.5¢cm,/P = 90°, ZA = 110°, ZN = 85°.

o Watch Video Solution

3. Construct the following quadrilaterals :
Parallelogram MORE

OR=6cm.

RE=4.5cm

EO=75cm.

| o |


https://dl.doubtnut.com/l/_jdTI5OBTPuhM
https://dl.doubtnut.com/l/_XftLC9RQeAbU
https://dl.doubtnut.com/l/_1PozHpzjkNed

[ & Watch Video Solution ]

4. Construct the following quadrilaterals. Rectangle OKAY OK =7

cn KA=5cm

° Watch Video Solution

5. Quadrilateral MORE

MO = 6em, OR = 4.5¢m, /M = 60°, /O = 105°, /R = 105°.

° Watch Video Solution

6. Quadrilateral PLAN

PL = 4em, LA = 6.5cm,/P = 90°, ZA = 110°, /N = 85°.

° Watch Video Solution



https://dl.doubtnut.com/l/_1PozHpzjkNed
https://dl.doubtnut.com/l/_lsYPWBngTtby
https://dl.doubtnut.com/l/_LDNtohGScQRt
https://dl.doubtnut.com/l/_z5jVQmkmQGAs

7. Construct the following quadrilaterals :
Parallelogram MORE

OR=6cm.

RE=4.5cm

EO=75cm.

° Watch Video Solution

8. Construct the following quadrilaterals. Rectangle OKAY OK =7

cm KA=5cm

° Watch Video Solution



https://dl.doubtnut.com/l/_GS43J0hEINjx
https://dl.doubtnut.com/l/_CGfxYMKSKT2e

1. Quadrilateral DEAR

DE=4 cm,EA=5cmAR=4.5cm,/E = 60°, LA = 90°.

° Watch Video Solution

2. Quadrilateral TRUE

TR=3.5cmRU=3cmUE=4cm,/R = 75°, ZU = 120°.

° Watch Video Solution

3. Quadrilateral DEAR

DE=4 cm,EA=5cmAR=4.5cm,/E = 60°, LA = 90°.

o Watch Video Solution



https://dl.doubtnut.com/l/_gcetXGVQMVLh
https://dl.doubtnut.com/l/_YzgKYbhKXdTm
https://dl.doubtnut.com/l/_KKkjUAmQQ8aN

4. Quadrilateral TRUE

TR=3.5cmRU=3cmUE=4cm,/R = 75°, ZU = 120°.

° Watch Video Solution

1. Draw the following : The square READ with RE = 5.1 cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_YBZOkM6smn4o
https://dl.doubtnut.com/l/_PF1jzgZdcysX

2. Arhombus whose diagonals are 5.2 cm and 6.4 cm along.

o Watch Video Solution



https://dl.doubtnut.com/l/_gdYGBZZYii4V

3. Arectangle with adjacent sides of lengths 5 cm and 4 cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_FVKqWPTKnpUD

4. A parallelogram OKAY where OK = 5.5 cm and KA=4.2 cm

o Watch Video Solution

5. Draw the following : The square READ with RE = 5.1 cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_fAjLYDsxcBbo
https://dl.doubtnut.com/l/_a9Czvbpa0DVs

6. A rhombus whose diagonals are 5.2 cm and 6.4 cm along.

o Watch Video Solution



https://dl.doubtnut.com/l/_EvD9Mrc2Y0XT

7. Arectangle with adjacent sides of lengths 5 cm and 4 cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_NaaduJWjG3tp

8. A parallelogram OKAY where OK = 5.5 cm and KA=4.2 cm

o Watch Video Solution

1. How will you construct a rectangle PQRS if you know only the

lengths PQ and QR?

| & S |


https://dl.doubtnut.com/l/_CoVIxI9TvNlA
https://dl.doubtnut.com/l/_NHhgZ87B7270

[ W Watch Video Solution ]

2. Find x+y+z

.l ||

o Watch Video Solution

3. How will you construct a rectangle PQRS if you know only the

lengths PQ and QR?

o Watch Video Solution



https://dl.doubtnut.com/l/_NHhgZ87B7270
https://dl.doubtnut.com/l/_nRFXyLRa4Gsh
https://dl.doubtnut.com/l/_Jk4ZhWPccXxV
https://dl.doubtnut.com/l/_RgqsM1XmzyFT

4. Construct the kite EASY if AY = 8 cm, EY=4 cm and SY = 6 cm

(Fig.). Which properties of the kite did you use in the process?

o Watch Video Solution



https://dl.doubtnut.com/l/_RgqsM1XmzyFT

